
 

 

03 تمارين فيزياء  الأولى بكالوريا  الشـغـل و الـطـاقـة الـحـركـيـة الشـغـل و الـطـاقـة الـحـركـيـة الشـغـل و الـطـاقـة الـحـركـيـة الشـغـل و الـطـاقـة الـحـركـيـة  

                                        
        

        
            12121212    الـتـمـريـنالـتـمـريـنالـتـمـريـنالـتـمـريـن
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1.  ;�7��S  �7	�<ا .�A �=*>! ��)� ؟ أي ، إ>� !<ون �����
����ت CDا �/)E

0ى ��F إذا ا��� 


� ا>�	ICJ/S  �7 أن  .2C �F�C  L=C� 30BOC β= = °: 

��ك !=.  .2.1CD0ى اO ل�Q1أ ��CأA  وC. 
2.2.  �7�0

T ا>S<ة ا>��

��ك fا�CD0ى ا	<.  
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